

① $\begin{cases} x + y + z = 1 \\ x + ay + z = b \\ x + a^2y + z = b \end{cases} \quad a, b \in \mathbb{R}$

$\xrightarrow{(-1)}$

$\begin{cases} x + y + z = 1 \\ (a-1)y = b-1 \\ (a^2-1)y = b-1 \end{cases}$

1° $a=1$

$\begin{cases} x + y + z = 1 \\ 0 = b-1 \\ 0 = b-1 \end{cases}$

1.1° $a=1, b=1$

$\begin{cases} x + y + z = 1 \\ y = \alpha, \alpha \in \mathbb{R} \\ z = \beta, \beta \in \mathbb{R} \\ x = 1 - \alpha - \beta \end{cases}$

∞ PEU.

1.2° $a=1, b \neq 1$

$0 = b-1 \neq 0$

HEMA PEU.

2° $a \neq 1$

$\begin{cases} x + y + z = 1 \\ (a-1)y = b-1 \\ (a^2-1)y = b-1 \end{cases} \quad \xrightarrow{(-a-1)}$

$\begin{cases} x + y + z = 1 \\ (a-1)y = b-1 \\ 0 = -(b-1)a \end{cases}$

2.1° $a=0$

$\begin{cases} x + y + z = 1 \\ -y = b-1 \\ 0 = 0 \end{cases}$

$\begin{cases} z = \beta, \beta \in \mathbb{R} \\ y = 1-b \\ x = 1 - (1-b) - \beta \\ = b - \beta \end{cases}$

∞ PEU.

2.2° $a \neq 1, a \neq 0, b=1$

$\begin{cases} x + y + z = 1 \\ (a-1)y = 0 \\ 0 = 0 \end{cases}$

$\begin{cases} z = \beta, \beta \in \mathbb{R} \\ y = 0 \\ x = 1 - \beta \end{cases}$

∞ PEU.

2.3° $a \neq 1, a \neq 0, b \neq 1$

$0 = (b-1)a \neq 0$

HEMA PEU.

$(x, y, z) \in \begin{cases} (1-\alpha-\beta, \alpha, \beta), \alpha, \beta \in \mathbb{R} \\ \emptyset \\ (b-\beta, 1-b, \beta), \beta \in \mathbb{R} \\ (1-\beta, 0, \beta), \beta \in \mathbb{R} \\ \emptyset \end{cases}$

and $\begin{cases} a=1 \wedge b=1 \\ a=1 \wedge b \neq 1 \\ a=0 \\ (a \neq 0 \wedge a \neq 1) \wedge b=1 \\ (a \neq 0 \wedge a \neq 1) \wedge b \neq 1 \end{cases}$

⑤ $\det A = \begin{vmatrix} a & b & b & \dots & b \\ b & a & b & \dots & b \\ b & b & a & \dots & b \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ b & b & b & \dots & a \end{vmatrix} \xrightarrow{(-1)}$

$= \begin{vmatrix} a & b & b & \dots & b \\ b-a & a-b & 0 & \dots & 0 \\ b-a & 0 & a-b & \dots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ b-a & 0 & 0 & \dots & a-b \end{vmatrix} = \begin{vmatrix} a+(n-1)b & b & b & \dots & b \\ 0 & a-b & b & \dots & b \\ 0 & 0 & a-b & \dots & b \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \dots & a-b \end{vmatrix}$

$= (a+(n-1)b)(a-b)^{n-1}$

2) $a=1, b=0 \Rightarrow \det A \neq 0 \Rightarrow$ l.p. = n.m. u.v. $\Rightarrow \mathcal{L}(A) = \mathbb{R}^n$

⑥ $d_1(u+v) + d_2(u-v) + d_3(u-2v+w) = \vec{0} \Rightarrow (d_1+d_2-d_3)u + (d_1-d_2-2d_3)v + d_3w = \vec{0}$

$\xrightarrow{\text{coef.}}$

$\begin{cases} d_1+d_2-d_3=0 \\ d_1-d_2-2d_3=0 \\ d_3=0 \end{cases} \quad \xrightarrow{(-1)}$

$\Rightarrow \begin{cases} d_1+d_2-d_3=0 \\ -2d_2-2d_3=0 \\ d_3=0 \end{cases} \Rightarrow \begin{cases} d_1=d_2=d_3=0 \end{cases}$

u, v, w m.v. u.v.

donc, $u+v, u-v, u-2v+w$ s'y m.v. u.v.